General Information

Name: Timothy Michael Bobanic

PID 298409

AGENCY INFORMATION

Organization	Suborganization	Title
Brevard County	Elected Constitutional Officer	Supervisor of Elections

CANDIDATE FOR

Position	Agency Name	Position sought or held
Supervisor of Elections	Brevard County Supervisor of Elections	Supervisor of Elections

Net Worth

My Net Worth as of May 28, 2024 was \$1,139,335.05.

Assets

Household goods and personal effects may be reported in a lump sum if their aggregate value exceeds \$1,000. This category includes any of the following, if not held for investment purposes: jewelry; collections of stamps, guns, and numismatic items; art objects; household equipment and furnishings; clothing; other household items; and vehicles for personal use, whether owned or leased.

The aggregate value of my household goods and personal effect is \$ 124,000.00.

ASSETS INDIVIDUALLY VALUED AT OVER \$1,000:

Description of Asset	Value of Asset
3751 Fringetree Ln Melbourne FL 32940	\$ 635,100.00
2023 Toyota Tundra	\$ 49,466.00
2019 Toyota Rav4	\$ 18,692.00
FRS 2040 Retirement Date Fund (2040)	\$ 268,522.95
Truist Traditional IRA	\$ 85,865.81
Chase Bank Accounts	\$ 20,356.71
2021 Toyota Tacoma	\$ 34,041.00
See Attached	

Liabilities

LIABILITIES IN EXCESS OF \$1,000:

Name of Creditor	Address of Creditor	Amount of Liability		
Southeast Toyota Finance (Tundra Loan)	Lockbox 8881 PO Box 8500 Philadelphia, PA 17178	\$ 43,646.00		
Navy Federal Credit Union (Rav4 Loan)	PO Box 3000 Merrifield, VA 22119	\$ 11,848.00		
Navy Federal Credit Union (Tacoma Loan)	PO Box 3000 Merrifield, VA 22119	\$ 24,658.00		
Bank of America	P.O. BOX 15284 WILMINGTON, DE 19850	\$ 7,482.39		
Citi Cards	BOX 6500 SIOUX FALLS, SD 57117	\$ 2,130.25		
America Express	PO BOX 6031 CAROL STREAM IL 60197-6031	\$ 6,944.78		

JOINT AND SEVERAL LIABILITIES NOT REPORTED ABOVE:

Name of Creditor	Address of Creditor	Amount of Liability
N/A		

income. Or attach a complete co	opy of your 202 or account nu	23 federal incom	ceeded \$1,000 during the year, inc ne tax return, including all W2s, so taching your returns, as the law re	hedules, a	and attachments.	
☐ I elect to file a copy of my 20.	23 federal inco	ome tax return a	and all W2s, schedules, and attach	ments.		
PRIMARY SOURCES OF INCOME:						
Name of Source of Income Excee	eding \$1,000	Address of So	urce of Income		Amount	
Brevard County Supervisor of Elections		2725 Judge Fra FL 32940	an Jamieson Way Bldg C Suite 105	Viera,	\$ 184,356.00	
SECONDARY SOURCES OF INCOME (Major customers, clients, etc. of businesses owned by reporting person): Name of Major Sources of Address of Sources Principal Business						
	Name of Maj	jor Sources of		Principa	l Business	
Name of Business Entity		jor Sources of	Address of Source	Principa		
	Name of Maj	jor Sources of		Principa	l Business	
Name of Business Entity	Name of Maj	jor Sources of		Principa	l Business	
Name of Business Entity	Name of Maj	jor Sources of		Principa	l Business	
Name of Business Entity	Name of Maj Business' Inco	jor Sources of		Principa	l Business	
Name of Business Entity N/A	Name of Maj Business' Inco	jor Sources of		Principa	l Business	
Name of Business Entity N/A	Name of Maj Business' Inco	jor Sources of		Principa	l Business	
Name of Business Entity N/A	Name of Maj Business' Inco	jor Sources of		Principa	l Business	

Training

This section applies only to a Constitutional or elected municipal officer, each of whom are required to complete annual ethics training pursuant to Section 112.3142, F.S.

☑ I certify that I have completed the required training under Section 112.3142, F.S.

Required training under Section 112.3142, F.S., not applicable to filer for this form year.

Signature of Reporting Official or Candidate

Under the penalties of perjury, I declare that I have read the foregoing Form 6 and that the facts stated in it are true.

Timothy Michael Bobanic

Digitally signed: 05/29/2024

Filed with COE: 05/29/2024

Primary Account Holder	Registration	Security Type	Security ID	Security Description	Recent Quantity R	ecent Price	Recent Market Value
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	QAMCQ	TRUIST BANK SINGLE BANK LEVEL RATE SWEEP - MANAGED	14,036.36	\$1.00	\$14,036.36
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	BGISX	BRANDYWINEGLOBAL CORPORATE CREDIT IS	344.677	\$10.44	\$3,598.42
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	BKLN	INVESCO EXCH TRADED FD TR II SR LN ETF	102	\$21.09	\$2,151.18
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	DIA	SPDR DOW JONES INDL AVERAGE ET UT SER 1	5	\$388.60	\$1,943.00
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	ERASX	EATON VANCE ATLANTA CAPITAL SMID CAP R6	31.77	\$40.62	\$1,290.49
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	ESIIX	EATON VANCE SHT DUR STRATEGIC INC FD I	903.152	\$6.56	\$5,924.67
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	FLPSX	FIDELITY LOW PRICED STOCK	43.691	\$47.67	\$2,082.74
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	FXU	FIRST TR EXCHANGE TRADED FD II UTILS ALPHADEX FD ANNUAL	80	\$34.21	\$2,736.80
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	GOVT	ISHARES TR US TREAS BD ETF	263	\$22.33	\$5,872.79
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	IEFA	ISHARES TRUST CORE MSCI EAFE ETF	32	\$75.31	\$2,409.92
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	LSBDX	LOOMIS SAYLES BOND INSTL	152.351	\$11.39	\$1,735.27
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	MINT	PIMCO ETF TRUST ENHANCED SHORT MATURITY ACTIVE ETF USD	49	\$100.57	\$4,927.93
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	NPSRX	NUVEEN PREFERRED SECS AND INC CL I	454.078	\$15.26	\$6,929.23
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	PIGIX	PIMCO INVMT GRADE CREDIT BD FD INST	335.654	\$8.77	\$2,943.68
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	PKW	INVESCO EXCHANGE TRADED FD TR BUYBACK ACHIEV	18	\$103.21	\$1,857.78
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	QQEW	FIRST TRUST PORTFOLIOS FUNDS FIRST TRUST NASDQ 100 EQ WEI	32	\$122.01	\$3,904.32
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	RPV	INVESCO EXCHANGE TRADED FD TR S&P500 PUR VAL	42	\$84.01	\$3,528.42
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	RSP	INVESCO EXCHANGE TRADED FD TR S&P500 EQL WGT	37	\$164.79	\$6,097.23
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	VDC	VANGUARD WORLD FD CONSUM STP ETF	15	\$204.03	\$3,060.45
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	VMBSX	VANGUARD BACKED SECURITIES INDX ADM	93.173	\$17.89	\$1,666.86
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	VNQ	VANGUARD REAL ESTATE ETF	32	\$81.32	\$2,602.24
Timothy M Bobanic	Traditional IRA (SIRA)	Common Stock/ETF	XLV	HEALTH CARE SELECT SECTOR SPDR FUND	14	\$142.67	\$1,997.38
Timothy M Bobanic	Traditional IRA (SIRA)	Mutual Fund	YAFIX	AMG YACKTMAN FOCUSED I	120.935	\$21.24	\$2,568.65